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Расчет стропил Gнорм.= 233.90 кг/м
Угол,                       град. 35.00
Прогиб,                     см. 1.73 250 Gрасч.= 319.06
Ru,                         кг/см2 130.00
Момент,норм  .        кгхм 286.35
Момент,расч.         кгхм 390.61 5.79 109.43
Wтр.,                        см3 300.47 -138.40 кг
Jтр.,                         см4 2221.98 Моп.= 390.61
Втр.(устойчив.)        см 3.16 1194.45 кгхм
В, заданная ,      см 10.00 4.33 H= 3.32
Нтр.,прочн.,             см. 13.43 h= 2.49
Нтр.,прогиб,             см. 13.87 281.47 кгхм
Н, (по сорт-ту),   см 15.00
Принимаем Н     см 20 456.30
Гибкость                     λ 74.91 L1= 3.55 1.19
Коэф.прод.изгиба       ϕ 0.535
Коэф.                         ξ 0.992 L= 4.74 м
Момент (сжат.)  Мд  кгхм 393.76
Напряж.изг.      кг/см2 59.61 <= 130.00 Кз= 2.18
Прогиб,               cм. 0.58 <= 1.73 Кз= 2.98
Напряж.скал.   кг/см2 4.16 <= 16.00 Кз= 3.85

Условие выполнено!
Условие выполнено!
Условие выполнено!


